EARAROBEEIERT — 2 N— IBISH —F

20135 7A2H (X) 4m)IB2H

1R EEERIE R

EZS

i3 ‘ [RERSE] — | & (&) 16000 B

[A&4£] 17 :4,000,000 23 :1,200,000 33 :800,000 4 7% :480,000 @ . 5 7 :320,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i = 4 6 | ABEX 1:42.3 2-2-1-1 | 39.4| — 2 465 | BHBB (fafE)
1188 TFITy TR 55.0 (=) (-7) |EEEE "
L:4¥2Y3Y B:JLAZXT7oah EEs —B
. FlgEX : 56— — BEEEE (KH)
2055 |Nv 7 by PIT—2R 6 57.0 1('34/%4')4 o5 %8 ’ ?g? SEEA
RHVRRT 4w T B:TT—k—1)— FEF 45
. IRES . 35 _ HNBE— (#348)
31111 AY—hrF 4+ X2— 8 ASZ.B 1.(4(;3).] e %8 0 :?g) KN
LNTNALT7zO—- B:I7O-1Y> i vie]
S, 5w o . 47 | HEfE— 1:43.4 1-1-1-3 [ 40.6 | — 4 502 | EEREE (J11&)
Yoy dgr 57.0 (11/2) 0 (B) 77> K5
R:YIRG4I52 B:¥3vrx 75 Kiig
e SO— o7 | WIHER 1:43.4 6-6-32 |40.2| — 1 515 | /NARE ()
=t RO—7+ 55.0 (7€) @1 | Bl
AR w4 =9 B:TIFFN—Fb THES
o= o7 | Wit 1:44.9 3-4-4-6 |41.7| — 5 466 | 2 A (J1118)
TI2FF2A LA 55.0 @) 1) | @) 77K
L:XF v a2—HId—IK BIIXT1>%1L4 J5 2 Kikie
INAX/N— b # 8 g%i’ 1:&6).5 5-7-7-7 | 42.4| — 7 <5+133) ;ﬁgﬁ‘?_ (i)
L:77)—-h~ B:EVIST 2k
4 8 | TEEM 1:46.9 7-8-8-8 |42.2| — 8 462 | EEHES ()
glz|7| 7174 Z'f % 57.0 @ () |FERT
Z:ANKZRTING B:KRY—-XT1) -k T2 NG
@ 1—F—@&BIEf
i3=3r= 3,8,6,1,4,2,7,5
20—F— 3,8,1,6,5,2,4,7
d2=7r= (3,8),2,6,1,5,4,7
41—+ — 8,2,3,1,5,6,4,7
[ RN
B OB 8 370 714K 5-8 410 B E 5-8 1,040 &R 1-5-8 4,650M
% B 8 140 1-8 7501 | | BB 8-5 1,790/ | | 3=& 8-5-1 17,650
5 200M 1-5 830M
1 370M

ABICOVWTRDTEEERROODE. TR LIV,




